Screw

TR ERE ME

WA739 Iz SUS303

<A

How to order »{»)

Y

WA739 - M12 - 10
I I

TYPE B RE

=
\

E 2] B : mm
B ?ﬁ%h L A B d E H (RS
y M12 1.0 10 15 4 6 3.3 4.5 6 M3x0.5

N
M16 15 20 5 8 4.3 8 M4x0.7
A 7.0
M20 1.5 15 20 25 30 35 40 6 10 5.3 10 M5x0.8
oo
an M24 20 25 30 40 8 14 6.3 9.0 14 M6x1.0

Che Na (02)2688-3177 ‘ info@chena.com.tw ‘ @ Eggggggg;g?~3 ‘ @ AL TR R Y AR 42158



